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All questions are Compulsory

et weer 3iferart 2

Question Nos. 1 to 8 are Multiple choice type which corry 1 mark each.

U FHAT 1 A 8 ddb wglabcUld ued & oA Ui
HT 1 37b B

Question Nos. 9 to 15 are very short Answer type which corry 1 mark each.
UesT JBT 9 A 15 dawb 3ifa org I ued & et ue
BT HAT 1 376 & |

Question Nos. 16 to 23 are short Answer type — I which corry 2 marks each.
UoaT AT 16 A 23 dHb oy 3duad— | U%Ef?‘%raa?rcﬁ
BT HST 2 3B & |

Question Nos. 24 to 31 are short Answer type — II which corry 3 marks eacf !

Uoe JWT 24 A 31 db oy IAdT— 1l Uesr & ST Wi
BT HST 3 3b &

Question Nos. 32 to 34 are long Answer type which corry 5 marks each.
Uosl JEAT 32 A 34 db d" ITAT uesl & Tiehr Ui
AT 5 3ib B |

(Multiple Choice Type Questions)

(@gRrascdr uee)

Ag is an example of ‘
(a) lonic Solid (b) Metallic Solid |
(b) Co-valent Solid (¢) None of these. |

Ag Udh 3IETEI0T & \?
(a) 3TTTelas oA hT (b) erffeaes 1A BT |
(c) ABHATSThs BIRA BT (d)sstdd I BIE Tal

Rate = K [CH3 COOC, Hs] [NaOH] is on example of
(a) Zero order reaction (b) Second order reaction
(¢c) First order reaction (d) None of these. |

Jor= K [CH; COOC, Hs| [NaOH] Ueh  3aT&=or |
(a) e hife sfarfrm @1 (b) Te=r spife 31fares=m o)
(c) werer ehite 3ifarfsam aor (d)serdt J BIg TEr
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L[} CH
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The reaction is
(a) Aldol Condensation (b) Clemmensen’s reduction
(¢) Fittig reaction (d) None of these.

0
]
CH;
C-H Zn - Hg / HC s
(o7 R e B O +H, 0

srfafesar B

(a) TesTel Agelel (b) TN AT T
(c) Topctor  3TfafcH (d) serdt ¥ BS FEI
Magnetite is an ore of
(a) Al (b) Fe
(¢c)Zn (d) Cu
Fooerse 3B &
(a) Al epr (b) Fe =mr1
(c) Zn BT (d) Cuepr
Toluene Cl,/ hv
— A
‘A’ is
(a) Benzene (b) Benzaldehyde
(c¢) Choloro Benzene (d) None of these
HHER Cl,/ hv A
N
(a) Jeailer (b) AeoTcTTSETSS
(c) AR Asoilel (d) et A BIs Bl
Cr O;
Isopropyl alcohol + [O] > A
‘A’ s
(a) Acetophenone (b) Acetone
(¢) Cyclopropanone (d) None of these
Cr Oy
amsAMiUer Uembiaal + [O] LA
‘AR
(a) TAEIwIETe (b) wfiers
(c) ATSFATIT AT (d)zetdt A B3 STEl

Which enzyme helps in coverting starch into maltose ?
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(a) Zymase (b) Maltase

(c) Diastase (d) None of these
Eﬁﬁmﬁuﬁaﬁamﬁaﬁawmmmam
297

(a) SITgHST (b) FHTeST

(c) TSt (d) serdt & BIS Tl
CH; .CH,OH 95% H,SO,4 e

140K »  Product
the product is

(a) C, He (b) CH, = CH,

(c) CH;0H (d) None of these
CH; .CH,OH 95% H,S0O,

440K B
3IqE B
(a) C; Hg (b) CH, = CH,
(c) CH;0H OESGEER:IEEGE]

(Very Short Answer Type Questions)
(a1t org ITAT ues)

Calculate the overall order of a reaction which has rate expression

Rate =K [A]"? [B]™?

STHRpeT @ et Wife @t oToTe ifste At der
Jor=K [A]"? [B] 31

Beri beri occurs due to deficiency of which vitamin ?

Char Rref3s @) wa F AN BT B ?

Write dispersed phase and dispersion medium of soap lather a colloidal solu

AgA B, Uss broirss orel T Uit grazer

gf¥eigor FHrera =T |

Write the monomer used for getting the polymer, Polypropene.

TEETh, m?ﬁuﬁfﬁaaﬁwaﬂ%a%%reu—gaﬁum%ﬁawl

Write TUPAC name of (CH3); C CH, CH, CH(Br) CHj;

(CH3); C CH, CH, CH(Br) CH; @B1 agogodiorwoo =me fasi ||

Give an example of Ketohexose.
BZFRAT BT TH ITTET ¢ |
Give an example of food preser vative.
Zmer uf3zeTes @l Udh 3IETE0T & |
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(Short Answer I Type Questions)
(g 3T 1uee)

Distingiush between metallic conductor and electrolytic Conductor.

erfeacs dTeTds @ell dgd3iueeel dictds # fasia |

Name Some ores which can be Concentrated by magnetic Separation method.

qraallT geraRReT fafYr g Afgd Y omer arer imerReny
o et | |
Write the reactions of F, and Cl, with water.

STer @ Jer Fygerm ChLast aifdfeead faea |

Explain briefly how +2 Oxidation state becomes more and more stable ini* the

first half of the first row transition elements with increasing atomic number. |

S8y 9 U ASTT 6 uersr wepHor Aoft B wersr asveferror &

9ey BU UIATY B B A +2 SieRfieer  s@Ren A

aiferes o=t &l STt 2
Complete the following :

(a) C,HsBr + AgCN (ale) ——
(b)CH;—CH=CH,+HI —»

RreenfalRaa &7 9@T ®L

(¢) C,HsBr + AgCN (ale) ——
(d) CH;—-CH=CH, +HI —»

What are the expected Products of hydrolysis of Sucrose ?

agﬁwa%aasmaaa@rﬁa—arm%aaﬁaﬁsﬁaﬂaﬂﬁ%?

What are natural and Synthetic Polymers ? Give one example of each. |

ursfaes 3T e wgeles T &P URB B UB ISRV

qfSE | |
Why Should not medicines be taken without consulting a doctor ? i

BT =T @ uwrae! u carsat w=it @dl oreft anfdu ?

(Short Answer II Type Questions)
oig 3T 11 uee)

Distinguish between Conductors and insulators.
aretes der faegaet F faste @i
Explain rate of chemical reaction.
Tt 31T & dor BT auiur @I |
Explain the following terms :

(a) Peptization (b) Electro osmosis
foreet Uael bl AFASTSC:

(a) Ueet (b) Igd URTART

1+1=2

1+1+=2

1+1=2

1+1=2

Vot+1%

(%]

=3

1%+1'2 =3
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How will you bring about the following transformations ?
(a) n-propyl bromide  to n-propyl alcohol
(b) Ethyl iodide to Diethyl ether
(¢) Propionamide to Ethyl amine
foraeTiaiRaa ufeadel 37T BA BT ?
(a) - adTes A n-WfueT Topleet
(b)ulerer am=itsss JF BE URa e
O UCEIGIGIESIE: B e s sz G
Using TUPAC norms write the Systematic names of the following :
(a) [Co(NH3)e] Cls
(b) [Co (NH3)4 C1 (NOp)] Cl
(c) [Ni (NH3)6] Cl
JUPAC froraft & ammeR o feeenfafaa & JeaaiRed
%ﬁﬂ'@:
(a) [Co(NH;)e] Cls
(b) [Co (NH;)4 C1 (NOy)] Cl
(¢) [Ni (NH3)q] Cla
What is Corrosion ? How Corrosion can be checked ?
HETRUT oI & ? HETRUT Bl BA AbT ol ABAT & ?
Predict the Product :

OH Conc. HNO;
@ © -

Cl

Anhydrous Alcl;
(b) @ + CH,Cl *
H,O
(c) C¢HsCO.0.COCH; >
3Idlq ddrsu
OH

Conc. HNO;

v

e

Cl
31?ﬂ'é AlCl3
(b) @ + CH4CI .

H,O
(C) C6 H5 COOCOCH3 —>

fu—

+1+1=3

o+1Y =3

+1+1=3
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Complete the following reactions :

(a) XeFs + HF Mt
(b) XeF "3 0, F, —
(c) H3PO4 Heat
_
RreataRaa sifaifenat @ w1 &° -
(a) XeF + HF R
(b) XeF * 0, F, - "
(c) H3PO; Heat
———

(Long Answer Type Questions)
@ 3T uee)

An aqueous solution of 2% non-volatile solute exerts a pressure of 1.004 bar at

the normal boiling point of the Solvent. What is the molar mass of the Solutg?

RIeeIes & JATHTST arIeredies ue Ueh 3ramsaeflar faersr @1

2%

ooy frerret T 1.004 bar arsg @@ @1 o @1 HioR

SETHATOT T & ?
OR 7 31erar

In a reaction between A and B, the initial rate of reaction (r,) was measurefl for

different initial Concentrations of A and B as given below :

A /mol L™ 0.20 0.20 0.40
B /mol L 0.30 0.10 0.05
r,/mol LS 507x10° [507x10° |1.43x10™

What is the order of the reaction with respect to A and B ?

A 3T B & FHew zfftear & A 3w B &t fafttess ufars

Figasl & o uRhes Jor (1) o few aw 21

A /mol L™ 0.20 0.20 0.40
B /mol L' 0.30 0.10 0.05
r,/mol LS 507x10° |507x10° |[1.43x10™ J]

A3 B ufy sifafeear ot wifec @=m & 2

Give the Principle involved in monufacture of Sulphuric acid by Cantact

Process. How does Concentrated H,SO, reacts with (i) C and (i) Cak,

Feae T ¥ FowRI3e e @ 3diee H fefga Reid o
23| =g H,S0, (i) C derr (i) CaF, & Arer s bR atisifehar

FHA B ?

—

F1+1=3

3+2=5
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I
Discuss the general Characteristics of Group 17 elements with reference tg (1)

Oxidation state (ii) ionization enthalpy and (iii) electron gain enthalpy.

aof 17 @ Tt B JEe oA @Bt I (i) aiterfieroT
arazen (i) amuee wSW wd (i) SoEEiel wid EﬁﬂﬁiafT\ >

Jeaf 3 fad=eT w3
Write short notes on the following :
(a) Friedel - Craft’s reaction
(b) Clemensen reduction
(c) Sandeyer reaction
Rreaferaa o wdfera fewoht o=t -
(a) ¥SYSeT — chrae ITHTHAT
(b) TFeftHTS  TUT

(c) Aesaraz rfafesar

OR 31e2rar
Identify ‘X’, ‘Y’ and ‘Z’ inthe following :

(a) CHs. CH,.CH,Br  KOH (alc) HBr
» ‘X B
CH:CHz
.
(b) KMOJOH | . H;0 B
Heat
(C)éOOH I'{NO:J,/HZSOL ;Za
Breateiaa & X ‘X, ‘Y der ‘Z° &l usdrel
(a) CHs;.CH,.CH,Br KOH(ale) . HBr
» ‘X _
FH=CH2
(b) @ KM,OJOH | . H;0 e

Heat

() é()OH HNOy/H,S04 <y

]

Vot-1%
+2=5

Vot1Ys
+2=5

+2+1=5



